Form No. P0O107.01
;M c . Eliminator, Air,
Technologies Truck, T-4A

Parts List
Issue/Rev. 0.1 (2/08) Bulletin P0107.01

The Most Trusted Name In Measurement



Item Description Qty. Part Number

1 Basket, Strainer:
O Y (=Y o 1 533961-001
BO MESI ... s 1 533961-002
2 Bearing, SIEEVE ... 1 008185-401
3 Bearing, SIEEVE ... 1 009591-400
4 T T | R 1 533904-001
5 Body, Lower Diaphragm .........cccoocieeeiiiiiiieeee e 1 534824-001
6 Body, Upper Diaphragm ..o 1 534823-001
7 Y= To] () AN 1 534817-001
8 (070] o] aT=To] (o] S 2 640677-002
9 (070 )Y/ B (= L[ 1= 1 533938-001
10 DiIaphragm ... ..cooceeiiie e 1 534831-001
11 ][0T N 2 643457-401
12 Flange, INlet..... ..o 1 534405-001
13 Float, Ball ......ooveeeiieeeeee e 1 640812-001
14 Gasket, Diaphragm........cc.eeeiiiiiiiiie e 1 534815-001
16 Gasket, PlUg......ooouiiiii e 1 004269-001
17 HOUSING, UPPET .ot 534822-001
18 NUE, 5/8"-18 ... 1 006705-002
19 + O-Ring:
0 P T N N 1 640685-007
Y41 (o o TN 1 640798-002
20 + O-Ring
0 = N 1 640829-001
Y41 (o o T 1 641276-401
21 + O-Ring:
0 F= N 2 640830-033
Y41 (o o T 2 640894-453
22 + O-Ring:
U] F= N 1 640685-005
LY 41 (o o T 1 640798-010
23 o T 1 501829-002
24 Pin, Cotter, 1/16 X 1/2" ... e 1 001095-401
25 Pin, Cotter, 1/16 X 1" . e 1 006265-001
26 Pin, FIOW VAIVE ... 1 534832-001
27 Pin, Groove, 1/8 X 9/16"........oveeeeeeeeeeee e 1 002030-400
28 11 (o o N 1 534829-001
29 P 1 (<N 1 534830-001
30 Plug, 1/8" NPT e 1 539950-001
31 Plug, Adjusting SCreW .......c..eeeiiiiiiiiiieiiiiee e 1 004268-001
32 o 10 o T T = SR 2 006653-001
33 RO, FIOAt.... .o 1 534818-001
34 Rod, Flow Valve Connector ..........cooceuuueeeeieiieiieeeeeeeeee e 1 534816-001
35 2 {oTe IR T (o] o TR 1 534828-001
36 Screw, 1/2-13 X 1-1/4" ..., 8 006117-002
37 Screw, 3/8-16 X 1-1/4" ..., 6 002238-401
38 Screw, 1/4-20 X /4" ... 1 005061-400
39 Screw, 1/4-20 X 1-8/4" ... 4 006207-002
40 Screw, #10-32 X /4" ... 2 006284-002
41 SCrew, 1/4-20 X 1" ..o 1 006004-002
42 Seal:
U] F= N R 1 534826-001
LY 41 (o o TN 1 534826-002
43 Seal:
U] = N U 2 643735-401
LY 41 (o) o TN 2 644365-401
44 (@ T Y=Y | N 1 534827-001

Issue/Rev. 0.1 (2/08) P0107.01 » Page 2



Item Description Qty. Part Number

45 ST o] 11 oo [ SRR 1 534820-001
46 TUDING e A/R 056803-500
47 R HOSE ASSEMDIY ... 1 577573-001
48 VaIVE, FIOW ...eieeeeee e e 1 533963-001
49 Valve, Assembly:
BUna-N.......oocr s 1 528103-011
VION .. e —————- 1 528103-012

50 Bearing....oc e 1 526411-001
51 BOAY e 1 528104-001
52 (070 )Y/ N 1 523944-006
53 DiSC, ValVE......cco e 1 507406-001
54 + O-Ring:

BUna-N ..o 2 640887-002

VION. .o 2 640798-007
55 + O-Ring

BUna-N ..o 1 640888-004

VION. .o 1 640894-406
56 + O-Ring:

BUna-N ..o 1 640888-009

VION. .o 1 640894-404
57 PiVOt ... 1 507607-001
58 R Loy F= 1= N 1 507368-001
59 {1 Vo S 2 640958-401
60 Screw, #10-32 X 1/2" ... 4 015169-400
61 Screw, #4-40 X 3/16" ... 1 060085-002
62 Seal, Lead and Wir€.........ooeeeieeeeeeeeieeieeeee e 1 001627-400
63 SEAL..c 1 526941-002
64 SPFING e 1 507737-001
65 S M e 1 526414-001
66 YOKE ot 1 528108-001
67 Washer, LOCK 1/4" 1.D. ..ouueeeeeeeeeeee e 7 005907-800
68 Washer, SEal ........oiiiieeeeeee e 1 534825-001

+ Recommended stock.
A/R As required.

@1 Apply small amount of liquid gasket (Loctite master gasket), Part Number 005889-600 to bottom of seat around
center hole.

Page 3 ¢ P0107.01 Issue/Rev. 0.1 (2/08)



The specifications contained herein are subject to change without notice and any user of said specifications should verify from the manufacturer that the specifications are currently
in effect. Otherwise, the manufacturer assumes no responsibility for the use of specifications which may have been changed and are no longer in effect.

Headquarters:

500 North Sam Houston Parkway West, Suite 100 Houston, TX 77067 USA, Phone: +1 (281) 260-2190, Fax: +1 (281) 260-2191

Gas Measurement Products: Liquid Measurement Products:

Houston, TX USA +1 (281) 260-2190 Erie, PA USA +1 (814) 898-5000 Beijing, China +86 (10) 6500-2251
Thetford, England +44 (1842) 82-2900 Los Angeles, CA USA +1 (310) 328-1236 Singapore +65 6861-3011
Kongsberg, Norway +47 (32) 286-700 Slough, England +44 (1753) 57-1515 Chennai, India +91 (44) 450-4400
Buenos Aires, Argentina +54 (11) 4312-4736 Ellerbek, Germany +49 (4101) 304-0

Integrated Measurement Systems: Barcelona, Spain +34 (93) 201-0989

Corpus Christi, TX USA +1(361) 289-3400 Moscow, Russia +7 (495) 564-8705

Kongsberg, Norway +47 (32) 286-700 Melbourne, Australia +61 (3) 9807-2818

San Juan, Puerto Rico +1809 (787) 274-3760
United Arab Emirates, Dubai +971 (4) 331-3646

Visit our website at www.fmctechnologies.com/measurementsolutions
Printed in U.S.A. © 2/08 FMC Technologies Measurement Solutions, Inc. All rights reserved. P0107.01 Issue/Rev. 0.1 (2/08)



